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Distinguish between conventional computing and intelligent computing.
Enlist the current trends in intelligent computing.

Considering suitable assumptions develop the desired performance,
environment, actuators and sensors (PEAS) measures for an automated
washing machine.

Explain how facts are represented in Al systems with suitable examples.
Define soft computing paradigm. Discuss its properties with respect to hard
computing which make it a better candidate for solving complex problems.

Explain with a suitable example how the use of fuzzy logic is better than
probability in representing uncertainty.
Consider two fuzzy sets given by
-~ 1 0.2 0.5 = 0.9 0.4 0.9
4= {H * medium + higll}’ B = {positive + zero + negativej _
i) Evaluate the fuzzy relation R for the Cartesian product of 4, B .

.s =~ 1 0.2 0.7
ii) Introduce a fuzzy set € = {H mediom T high

using max-min composition.

} , and evaluate Co R

With a suitable block diagram, illustrate the working of a fuzzy inference
system and enlist the different types of fuzzy models.
With a neat flowchart, explain the steps of a simple genetic algorithm.

Enlist the limitations of traditional optimization methods and explain how
genetic algorithm addresses those limitations.

Distinguish between crossover and mutation operation in genetic
algorithm.
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